0 WAwoece X245 Z.

Doplnte do zavorky cel¢ ¢islo tak, aby platila roviiost.

a) =T={ )=+3 b)  -4-( )=-1 c) y+4=+11 d) =6=( )=-8
8+ ( = (-8)+( )=+1 -9 - ( je=-8 10 + ( )=-2
11 +( ) =4 5-( )=-4 -(-5)+( )=+7 14+ ( )=+2
- ( )-5=+3 - ( )-7=+4 -10 - ( y =11 -8 - ( )=-6
-( )+ (-3)=-10 af )+8=+5 uf )+9=-2 5= ( )=-9

Vypocitejte.

a) (-1311+2603)+(829-3147)=

b) -1283+(-14032)+2732+(-63200)+47256=

! 3 x MiniTEST
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A - Zakiadni udive B - Zakladni uéivo C - Narocnéjsi ucivo
-7+12= -17-15= -(-2)-3=
16-23= 8§-25= -(+5)+8=
-11-8= -6+17= -12-(-3)=__
9-26= -18+6= -1-(-5)]=
3+17= 13-24= -+ (-6)]= I
4+ (-7)= 7-(-9)= S[-(+8)]= _
9-(-9)= 13+(-15)= +[+(-6)]= —
12-(3)= 8-(-13)= S[-(+2-3) = S
7+(-15)= S+(-12)= -[-(2+3)]=_

4+ (-12)= 12-(+7) = S[-1-(-2)]=




